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IN INDIA 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer the questions as per the instructions 

given for each Section. 

Section—A 

Note : Answer any two questions from this Section. 

2 × 20 = 40 

1. What are the external inputs on which 
agriculture depends as it develops into a more 
matured state ? How does the industry-
agricultural linkage influence demand to 
promote farm/rural income ? 
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2. Do you agree with the assertion that 

‘Institutional Development means economic 

development’ ? Identify the ‘Genesis of 

Panchayati Raj Institutions’ in India. 

3. What is meant by water resource  

management ? What are the major issues in the 

water resource management of the country ? 

4. Why is agricultural productivity low in India ? 

Discuss the institutional, technological and 

sociological causes in this context. 

Section—B 

Note :  Answer any four questions from this 

Section. 4 × 12 = 48 

5. Mention the four major planks of land reform 

legislation in India. What factors contributed to 

a poor performance of the implementation of 

ceiling on ‘land holding laws’ ? 
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6. What are the arguments advanced for subsidies 

to agriculture ? Discuss the various subsidies to 

promote the economic status of farmers in the 

country. 

7. Bring out the distribution of gains of Green 

Revolution in terms of employment generation, 

economic classes and farm sizes. 

8. Mention the objectives of National Forest 

Policy, 1952. Would you say that the targets for 

achieving the forest cover have been achieved ? 

9. Explain the factors taken into consideration 

while formulating pricing policy for agriculture. 

10. Explain the importance of ‘Crop Diversification 

as a Strategy’ for addressing the major 

challenges of Indian agriculture. 

11. What do you understand by the term ‘Bio-

diversity’ ? How does it affect agriculture ? 
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Section—C 

12. Write notes on any two of the following in 

about 100 to 150 words each : 2 × 6 = 12 

(a) Commercialisation of agriculture 

(b) Food security 

(c) Measures undertaken in agriculture in the 

wake of economic reforms in India 
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      BECE-214 

Lukrd mikf/ dk;ZØe 

(ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2022 

(,sfPNd ikB~;Øe % vFkZ'kkL=k) 

ch-bZ-lh-bZ--214 % Hkkjr esa Ñf"kd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

 
 Hkkx&d  

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj nhft,A  

2 × 20 = 40 

1- vf/d mUur Lo:i eas fodflr gksus ds fy, d`f"k 

fdu ckgjh vkxrksa ij fuHkZj gksrh gS \ m|ksx&d`f"kd 

lgyXurk fdl izdkj ek¡x dks izHkkfor dj 

d`f"kd@xzkeh.k vk; dks c<+kok nsrh gS \ 
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2- D;k vki bl dFku ls lger gSa fd ^laLFkkxr 

fodkl dk vFkZ vkfFkZd fodkl gS* \ Hkkjr esa 

iapk;rh jkt laLFkkvksa ds vkjaHk Øe dh igpku 

dhft,A 

3- ty lalk/u izca/u dk D;k vFkZ gS \ ns'k esa ty 

lalk/u izca/u ds eq[; eqn~ns D;k gSa \ 

4- Hkkjr eas d`f"kd mRikfnrk fuEu D;ksa gS \ bl lanHkZ eas 

laLFkkxr] izkS|ksfxdh; ,oa lekt'kkL=kh; dkj.kksa ij 

ppkZ dhft,A 

 Hkkx&[k  

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj fyf[k,A  

4 × 12 = 48 

5- Hkkjr esa Hkwfe lq/kj ds pkj eq[; eqn~ns crkb,A 

Hkw&/kj.k lhek dkuwuksa ds fØ;kUo;u eas fu"iknu Lrj 

fuEu jgus eas fdu dkj.kksa dk ;ksxnku jgk gS \ 
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6- d`f"k dks lkgkÕ;ksa ds i{k esa D;k rdZ fn, tkrs gSa \ 

ns'k eas fdlkuksa ds vkfFkZd Lrj dks lq/kjus gsrq 

fofHkUu lkgkÕ;ksa ij ppkZ dhft,A 

7- jkstxkj l`tu] vkfFkZd oxks± rFkk tksrksa ds vkdkj ds 

lanHkZ esa gfjr Økafr ds ykHkksa ds vkcaVu dks Li"V 

dhft,A 

8- jk"Vªh; ou uhfr] 1952 ds mn~ns'; crkb,A D;k vki 

dg ik,saxs fd oukPNknu fo"k;d y{;ksa dh izkfIr gks 

ikbZ gS \ 

9- d`f"k dher uhfr cukrs le; è;ku esa j[ks tk jgs 

dkjd crkb,A 

10- Hkkjrh; d`f"k ds le{k mifLFkr eq[; pqukSfr;ksa ds 

lek/ku ds :i esa iQlyksa ds fofo/hdj.k dh ;qfDr 

dk egRo le>kb,A 
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11- vki ^tSofofo/rk* inca/ ls D;k le>rs gSa \ ;g 

d`f"k dks fdl izdkj izHkkfor djrh gS \ 

 Hkkx&x  

12- fuEufyf[kr esa ls fdUgha nks ij 100 ls 150 'kCnksa 

(izR;sd) esa fVIif.k;k¡ fyf[k, % 2 × 6 = 12 

(d)  d`f"k dk okf.kT;hdj.k 

([k)  [kk| lqj{kk 

(x)  Hkkjr esa vkfFkZd lq/kj Øe esa viuk, x, d`f"k 

laca/h mik; 
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